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1. Use the Gelosia grid to work out 38 x 76

X 102103[04|05|06]|07]08]|09
02
03 09 | 12 18|21 | 24
04 12 | 16 24 | 28 | 32
05
06 18 | 24 36 | 42 | 48
07 21 | 28 42 1 49 | 56
08 24 | 32 48 | 56 | 64
38 X 76 = woveeeeeeeeeeeeeeeeee . 09
2. Use the Gelosia grid to work out 852 x 67
852 X 07 = oo,
3. Use the Gelosia grid to work out 607 x 89
607 X 8 = it
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4. Use the Gelosia grid to work out 487 x 19

X 102|03,04[05|06]|07]|08
02
03 09 | 12 1812124
04 12116 24 | 28 | 32
05
06 18124 36 | 42 | 48
07 21 | 28 42 149 | 56
08 24 | 32 48 | 56 | 64
A8T X 19 = oo 09
5. Use the Gelosia grid to work out 609 x 48
609 X 48 = ..o
6. Use the Gelosia grid to work out 96 x 38
96 X 38 = i

Answers Q1: 2 888 Q2: 57 084 Q3: 54 023 Q4: 9253 Q5: 29 232 Q6: 3 648

OO0 given x sign (8) SRS Learning Limited



